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Problem 1:
given:

A =1 34 56 31; -45 6 43 ]

A =
34 56 31
-45 6 43
compute:
si ze(A)
A N2

% denonstrat es conponent -w se squari ng

ans =
2 3
ans =
1156 3136 961
2025 36 1849

Problem 2:

given:

abc
def

abc =




compute:

ghi = 3*abc + def + 1
% denpnstrates scalar nult and addition

ghi =
9 13 17 21 25 29 33 37 41
Problem 3:
given:
abc = [12 3 4;5 6 7 8]
def =[4 32 1;0-1-3 3]
abc =
1 2 3 4
5 6 7 8
def =
4 3 2 1
0 -1 -3 3
compute:
Y%abc* def
abc*def'
abc' *def
abc. *def

% denonstrates the correct way(s) to multiply matrices

ans =
20 1
60 -3

ans =
4 -2 -13 16
8 0 -14 20
12 2 -15 24




16 4 -16 28

ans =
4 6 6 4
0 -6 -21 24
Problem 4:
given

f="x+cos(x)"2'

f =

x+cos(x) "2

compute the integral
I =int(f)

X2 + sin(2*x)/4 + x"2/2

compute the integral and display asif typeset:

pretty((int(f)))
% note that this requires the synbolic toolbox to be installed

X sin(2 x)
+

plot the integral on [-2 pi 2 pi]
ezplot(l,[-2*pi 2*pi])
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